In Class Exercises for Chapter 11

1) What would have happened if in 1995 Clinton and congress passed a fiscal policy that lowered taxes by $20 million and reduced government purchases by $20 million?

What affect does this have on the economy?

It depends on what the Fed does…

(a) Fixed Money supply rule:
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Contractionary fiscal policy shifts the IS curve inward and decreases planned expenditures and income through the multiplier effect. The (Y causes L(r,Y)( and given a fixed (M, the interest rate (. This has a slight feedback affect through I, but overall Y( and r(.
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(b) Fixed interest rate rule:
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Contractionary fiscal policy (IS. The Y( causes L(r,Y) ( and r(.

If the Fed wants to fix the interest rate at r, they would then ((M ( ((M/(P)( ( r( at the new level of Y. Then (r ( I ( and income falls further.

Overall, the interest rate remains the same, but income falls by a larger amount than if the Fed kept the money supply constant.

(c) Fixed level of income rule:

This strategy essentially counteracts any fiscal policy.
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Contractionary fiscal policy (IS. Economy moves from A ( B. In order to maintain income at Y1, the Fed (((M/(P)s and the LM curve shifts right. Economy returns to point C.

The Income-Expenditure Model and the IS curve

2) Suppose that the (planned) following information characterizes the economy: 

AE = C + I + G,

C = 100+0.7(Y-T)

I  = 200 – 4r

G = 100, T = 80

a) Explicitly derive an IS curve. 

IS: Y = C + I + G  ( Y = 100 +0.7*Y – 0.7*80 + 200 – 4r + 100


0.3Y = 344 – 4r


     Y = 1146.67 – 13.33r

b) If G were to increase by 20 (billion dollars) to 120, what is the IS curve? What is the government spending multiplier?

IS: Y = C + I + G  ( Y = 100 +0.7*Y – 0.7*80 + 200 – 4r + 120


0.3Y = 364 – 4r


     Y = 1213.33 – 13.33r

Government purchase multiplier = (1/(1-mpc)) = 1/(1-0.7) = 3.33

So additionally (Y = (G*(1/(1-mpc)) = 20*3.33 = 66.67 (so Y increased by this much)

Liquidity Preference and the LM curve
3) Suppose that demand for real cash balances (or purchasing power) is given by the following equation:
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a) Suppose that the money supply is 200, and the price level is 1 (consistent, perhaps, with the CPI=100). Derive an LM curve for the economy.

LM: M/P = 1/2Y – 50r ( 200/1 = 1/2Y – 50r


Y = 400 + 100r

b) If the money supply should increase to 300, what is the LM curve? 

LM: M/P = 1/2Y – 50r ( 300/1 = 1/2Y – 50r


Y = 600 + 100r

c) Suppose instead that the price level increases 10% to 1.1 (leave M at 200). What is the LM curve? 

LM: M/P = 1/2Y – 50r ( 200/1.1 = 1/2Y – 50r


Y = 363.64 + 100r

d) Explain why price levels may increase.

P ( in the long-run because the expansionary policies cause Y > Y at full employment. This causes Unemployment to fall which bids up wages. As wages increase the SRAS decreases (here shifts to the left or up if all prices are sticky in the short-run).

IS and LM – graphing I and II and finding equilibria:
4) What is the equilibrium interest rate and income level in this economy given by questions 2 and 3 with M = 200 and G = 100?

IS = LM

1146.67 – 13.33r = 400 + 100r

Solving for r: r = 6.59%

Solving IS or LM for Y: Y = 1059

a) Show your solution graphically.
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b) How does the economy's equilibrium change if the money supply increases by 100 (billion dollars)? Graph this. 

IS = LM ( 1146.67 – 13.33r = 600 + 100r

Solving for r: r = 4.82% and solving for Y: Y = 1082
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c) How does the economy's equilibrium change if government purchases increase by 20 in addition to the increase in the money supply (use M = 300)? Illustrate your answers to these questions graphically. Graph this.

IS = LM ( 1213.33 – 13.33r = 600 + 100r

Solving for r: r = 5.41% and solving for Y: Y = 1141 (Note that these are both expansionary – so close to the fixed interest rate rule: we expect Y ( and the sign on r depends on which policy is larger…)
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